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ECONOMICS
( Major )
Paper : 1.1

( Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following :
et frrTes e fors

fa) Choose the correct option : 1x5=5
% [ AR e

() The problem of ‘scarcity and choice’
mainly give rise to

TRl W 5T TR 2l vy
W > 5

1. problems of underdevelopment

SR
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( 2) j (3)

. . . = \
2. economic problems 2. 5in thefshort-ruiionly
A Sy (F<E ZEFEO
; : 5 th
3. non-economic problems 3. both in the short-run and the
long-run
S-S S Eabegiaie. o
4. None of the above
o 4. None of the above
BT YIS 723
Bl @9[qq IS 7=

(@) If the indifference curve is a |
downward sloping straight line, it
means that the goods are

ﬁazwawaﬁ@am@?@mw

fiv) A linearly homogeneous production
function depicts

REART SR T T <5 o
S G s IR 1. increasing returns to scale
1. perfect substitutes TR @R At
i fom 2. decreasing returns to scale
2. perfect complementaries FUEPTE @R e
ol 9{@51«; 3. constant returns to scale
3. used in equal amount ERT V@ AT
AR TS
4. All of the above
4. None of the above 89/ SGRCH20!
SORT dbrs Ty
(i) Fixed cost is found () SRSV el e S
&9 < ¢ 7w | ¥ 1 (AC) CHE IR e
1. in the long-run only : 1. ACis N MC‘
& TS PESTEIER R
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(4)

2. AC is less than MC
51T I A TFF T =

3. AC is equal to MC

4. AC is double the MC
SIG 3 AlfET IS 789 W

(b) What is Giffen good? 1
forcars & 6 2

(c) Mention one limitation of indifference
curve analysis. 1
feers @9 Romes GO el Toas 910

(d) Define sunk cost. 1
e /orE TER e @ |

(e) What is production possibility curve? i

T TRl @91 2

() What is cross elasticity of demand? 1|
wifewe fedfe Rforeee &2
2. Answer the following questions : 2x5=10
wo 2pTRd Oed ford

(a) What is static equilibrium?
e el 5 2
A7/371 A { Continued )

(b)

(c)

(d)

(e)

(5)

What is income -effect?

g R & 2

Draw the Engel curve for an inferior
good.

o8 TR AT GOl e (A1 SR

What is factor elasticity of substitution?

o elfesse Rfogeeel &6 2

What are the conditions of profit
maximization in terms of marginal
revenue and marginal cost?

difss W o Afee R WHES ST
HE I vocsen @ [ 2

3. Answer the following questions (any four :

5x4=20

wor 2ppTgRd Ted forst (R o uife) -

{a)

(b}

A7/371

Distinguish between stable and unstable
equilibriums.

WWWWWﬂWﬁﬁWI

Briefly explain the applications of the
concept of consumer’s surplus.

m@a%@mmﬁamsﬁ@wﬁl
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(c)

(d)

(e)

(6)

Why two indifference curves cannot

intersect? Explain.

ToE FReers @9 [ 3oh $R9 aRE?

AR A1

Draw the TFC, TVC, AVC and AFC
curves.

P B3 @, P ARSI I, o5 ARTENe
IR F A B I/ @A T 490

What are the different types of returns to
scale? Explain.

e ee TaE aforermz [ & 2 0 w1

Explain the relationship among AR, MR
and elasticity of demand.

T WE, AT 9w wE twE Rewriger
TS| o 7 97 1

4. Answer the following questions (any four) :

10%4=40

S LpTRd e oyl (R Gt i)

{a)

A7/371

Discuss some basic market models
indicating whether they work through
the market or interfere with the market.

IGRE Qo FROFAMT TR @ I SOR_O

EXTa e o M | e e on | T L B

SCATAT 41 1

( Continued )
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(b)

(@)

(e)

A7[371

(7))

Discuss the properties of indifference
curves with diagrams.

fous JEme Faers @R REPTR el
¢4l |

Discuss the derivation of demand curve
from the price consumption curve.

v Torers @9 G| oifEm @ e Sferear
2, HICeol 94l |

Discuss the procedure of derivation of
Engel curve.

GO @31 Sfeed 1w OTh! G T |

Discuss critically the law of variable
proportions.

AT Sere  REGH WEs =PI
SO 1 |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquants and isocost lines. 2+8

TSN IRPTOLE A 2 THCRAT ({4 S

S (Y RS R0 TS IR AL
e 91 =, SICeTo= 47 |

10

10

10

10

=10
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(8)

(g) Discuss the derivation of production
possibility curve from contract curves. 10
AN @A R [ TeArE TERA @90
Tfered =7, SCAmN T4 |

(h) Discuss the nature of the short-run and
long-run average cost curves. Why is the
long-run average cost curve flatter than
the short-run average cost curve? 7+3=10

TIEA WF TEEEA T IW @R e
A 91 | ZHFEA TG I (FLSLF HFIaA
oG ¥ @9 [’ @R ==

* & &
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